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N[O] = D[1] + D[3] + D[5] + D[7]
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SAHNIHNTVyI—K (4 %—T L)

N[O] = E - (D[1] + D[3] + D[5] + D[7])
N[1] = E - (D[2] + D[3] + D[6] + D[7])
N[ E-(D[4] + D[5] + D[e] + D[7])
R=E-(D[O]+D[1]+D[2]+D[3]+ D[4] + D[5] + D[6] + D[7])
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BANIENT77AF VT 4T I—X

AH (HIBRAL) 7
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D[7] DBSEIER (7544 U F 1) lE—&ES\. D[0] DEEIEAIE—BEL

N[2] = E (D[7] + D[7] D[6] + B[7] D[6] D[5] + DI7] Blé] DI5] Dl4))
= E (D[7] + D[6] + D[6] D[5] + D[6] D[5] D[4])
= E (D[7] + DI6] + D[5] + D[] D[4])
= E (D[7] + D[6] + D[5] + D[4]) E_EEELER P21 228
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N[ =€ (J+ [+ 000+000
nol=e (0+00+000+0000 ~ enc83p.tby

R = E (D[7]+D[6] +D[5]+ D[4] + D[3] + D[2] + D[1] + D[0])
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BANIENT77AF VT 4T I—X

ADFIRZ L OB : FED AN/ — >
ADESOH:9 (1XDE & 8E&DD (D[7.0]))
ANEEZ— D :22=512

A (HIBRA L) INR— > D
E D[7] D[e] D[5] D[4] D[3] D[2] D[1] D[O]
1 O @) 0 0 0 0 0 0 1
1 O @) @) o) 0 @) @) 1 1
1 O @) 0 0 0 0 1 X  X» 1@ 2
1 O @) 0 o) @) 1 X X  XH 2@ 4
1 O 0 @) @) 1 X X X XA 31F 8
1 O 0 @) 1 X X X X X»4ME 16
1 O 0 1 X X X X X XH»H5M@E 32
1 O 1 X X X X X X X»OofE 64
1 1 X X X X X X X X»H7M@E 128
0O x X X X X X X X XA 8ME 256
G5t:14+14+2+4+8+16+32+64+128+256=512=2°
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Mouse interrupt request
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SANIHEATFAFYVTF ATy aA—RAELBFLIHERITS I 2
L—>a>yLTTrEWw (P24 EEEXREZSHE),

N[2] = E (D[7] + D[6] + D[5] + D[4]) enca3p

I =E (D+D+DDD+DDD) [7.0] N[z..clj
o= (J+UU+UUH+DOUD

R =E (D[7]+D[6]+D[5]+D[4] +D[3] + D[2] + D[1] + D[Q])

7Yz bAlEenc83p it r I,
TR MRYF enc83p_tbyv ZFE->TTFE L,
BHEEXRHSS N[2]. N[1]. N[O] DEHBIEZEZENTTFE L,
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FE  BHRES

Verilog HDL I & 2 BB EE
3AANBHNT I—XDFKET (P8 — P10 #5R)

module dec38ena (D, E, N);
input [2:0] D;
input E;
output [7:0] N; // E D : N[D]
assign N[0] = E & "D[2] & "D[1] & ~D[0]; // 1_000: N[0] = 1
assign N[1] = ; // 1.001: N[1] =1
assign N[2] = 5 // 1.010: N[2] =1
assign N[3] = 5 // 1.011: N[3] =1
assign N[4] = ; // 1.100: N[4] = 1
assign N[5] = ; // 1.101: N[5] = 1
assign N[6] = ; // 1.110: N[6] = 1
assign N[7] = E & D[2] & D[1] & D[0]; // 1_111: N[7] =1
endmodule

FERa—FEREBRLYIaL—a vy L TTFaEL,
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FE  BHRES

Verilog HDL I & 2 BB EE
SANBSHEATZ7AF YT 4 T>a—5K (P24, P25 25 8)

\

module enc83pri (D, E, N, R);
input [7:0] D;
input E;
output [2:0] N;
output R;
assign R =E & (D[7] | D[6] | D[5] | D[4] | D[31 | D[2] | D[1] | D[OI);
assign N[2] = E & (D[7] | D[6] | D[5] | D[4D);

assign N[1] = H
assign N[0] = H
endmodule
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